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Part-IIT
COMPUTER APPLICATION (HUMANITIES)

Maximum : 60 Scores

Time : 2 Hours
Cool-off time : 15 Minutes

/ General Instructions to candldates \
® There is a ‘cool- off time’ of 15 minutes in addition to the writing time of 2 hrs.

® You are not allowed to write your answers nor to discuss anything with others during
the ‘cool-off time’,

® Use the ‘cool-off time’ to get familiar with questions and to plan yOur answers,
® Read questions carefully before answering.
® All questions are compulisory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answercd from the same
question itself.

. Calculations, figures and graphs should be shown in the answer sheet itself.
. Malayalam.version of the questions is also provided.
® Give equations wherever necessary.
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1. Rajan buys a computer from
computer manufacturing . company
WIPRO. Identify the category of

transaction.

(a) B2B

(b) B2C

(c) .B2G

d) E2I _ (1 mark)
2. Expansion of WAP is _ . {1 mark)

3. Public key algorithms are based on

(a) substitution and permutation
(b) mathematical functions
(c) substitution

(d) permutation (1 mark)

4.  Identify the purpose of < sub > tag
(1 mark)

5.  Pick the odd one out.
{ VB Script, Perl, Server, CGI )

.(l mark)

6. is the common printing
method. (1 mark)
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" (2) B2B

(b) B2C

(c) B2G

(d) E21 _ (1 mark)
WAP-60j alj@em@)alzosm

{1 mark)
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a6 Public Key Algorithm-sanad.
(a) substitution and permutation -
(b) mathematical functions

(¢) substitution

(d) permutation (1 mark)
<sub> soufloag DalGWINO
| ag@)®)d. (1 mark)
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(VB Script, Perl, Server, CGI)
: {1 mark)
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10.

11.

12.

Arathi wants to incorporate internet
connection in her computer. Name -
the additional equipment needed for
this, (1 mark)

Web site names consists of .com,
.edu, .org, .gov. Identify their

significance. (2 marks)

OR

identify any two advantages of

dedicated hosting, (2 marks)

SSL is a secure data transmission

method. Justify. (2 marks)

OR

Mr. Naik changed his original
message to an unintelligible form
before

sending to protect his

message from hawkers.

(a) Specify the name of the

converted text.

(b) Specify the name of the

conversion process. (2 marks)

Ravi wants to change the font size
and color of the text in a web page
during web designing. Can you help
him by writing the code ? (2 marks)
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13.

14.

15. .

16.

17.

18.

Veena wants to create a numbered

list in web page.
(a) 'What tag she can use ?

(b) What is the attribute for
changing the number format ?
(2 marks)

A student wants to write code in

C#. What are the software
requirements needed. (2 marks)
Vinod wants to installl DTP

‘softwares in his computer. Can

such
(2 marks)

you suggest any four

softwares ?

From where the tool for drawing
circle can be obtained in PageMaker 7
2 marks)

OR

List the names of four kinds of

indents in PageMaker. (2 marks)
John uses debit card for
transactions. Identify any three
advantages he obtained with
this. (3 marks)
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19. Mr. Abdulla wants to create the
following table in his webpage. Can
you help him by writing the code
for the table ?
ITEM PRICE
SALT 10
SUGAR 21

(3 marks)
OR

20. Ravi wants to divide the screen into 20.

three equal partitions in row-wise.
Write suitable HTML code to do
this. (3 marks)

21. Text Columns are frequently used in 21.

newspapers, magazines etc. What
are the steps to create a column grid

. in PageMaker ? '(3 marks)

22. Draw the symbols for Process, Data - 22

Store and Entity in System Analysis

and design. (3 marks)

23. You are appointed as the System 23.

Analyst in a company. What are
the qualities expected from you ?
(3 marks)

24. Differentiate between ficld, record 24,

and file. {3 marks)
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ITEM PRICE
SALT 10
SUGAR 21
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Analysis Design-eel
Process, Data  Store, Entity
agomlaiees Symbol aiedes)a..

(3 marks)

System
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25,

26.

27.

28.

29,

List out any three processing

capabilities of SQL. (3 marks)

There exists a table with fields
item no., item name, rate, quantity,

total price. Write SQIL. statements

_ for the following :

(a) Display quantity and total
price of an item whose item

no. is given,

(b) Display all items with quantity
less than 50.

{c) Delete the table. (3 marks)
Compare different hosting methods.

(5 marks)
Your friend runs a Private Bank.

You advise him for maintaining

proper DBMS. Justify your advice.

(5 marks)

In a radio transmission

(a) Which type of communication

is done ?

(b) Explain the

types of communication with

other two

examples.

OR
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30. Light source is used to send data

from one station to another.
{a) Justify your answer.

(b) Give any three advantages.
{5 marks)
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